AR 100 245 EE ARG 4 ~4-q
RRAL DAL TR RANEH KA

B IERMMAE %18 #£28

% — 485 RAFA (A A% 0 £21%)

1.

What is the minimum percentage of atmospheric oxygen required to support life? (A) 25%, (B) 20%, (C) 18%,
(D) 16%.

Which occupational exposure below is linked with nasal cancer? (A) Benzene, (B) Asbestos, (C) Cotton Dust,
(D) Formaldehyde

A product has an expected life of 25 years. Which of the points in the produét’ s life is it likely to have

the greatest failure rate? (A) 6 months, (B) 1 year, (C) 5 vears, (D) 10 vears

Determine the coefficient of entry for a hood with a duct velocity of 2500 fpm and a hood static pressure
of 0.58 inches of water. (A) 0.389, (B) 0.580, (C) 0.671, (D) 0.819

What is the required optical density to lower laser irradiance by a factor of 150007 (A) 1.5, (B) 4.2, (O
15, (D) 150

Which statement below most correctly defines a polar compound? (A) Polar compounds are chemicals found in
the arctic regions. (B) Polar compounds have a physical shape of rods or “poles” . (C) Polar compounds have
an electrical orientation. (D) Polar compounds have an oblong shape first described by Dr. Alfred A. Pole.

How long must an air sampling pump operate at 0.200 LPM to collect a detectable sample of benZene in an
environment Where,the concentration is expected to be 1 ppm. The analytical lab has an LOD of 2 micrograms,
and the molecular weight of benzene is 78. (A) 3.1 minutes, (B) 8.0 minutes, (C) 31 minutes, (D) 3.1 hours
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